BARRINGTON HILLS POLICE DEPARTMENT P. O. BOX 705 BARRINGTON, ILLINOIS

25 February 1974

SUBJECT: Request for approval of bills for month of February, 1974

TO: Hon. Alexander MacArthur, Chairman, Public Safety

Request the following bills be approved for payment:

ITEM		ACCT #	DESCRIPTION	AMOUNT
1.		611	Amoco Oil Co. (Gasoline - 1/26/74 billing)	38.47
2.	٠	621	Bar-Ton Stationers - Office Equip	177.39
3.	de .	630	Barrington Parts - Misc Equip	13.47
4.		615	Buffalo Rock Shooter's Supply - Training Ammo	105.00
5.		611	Boncosky Oil Co Gasoline - 2/74 billing	790.87
6.		613	Blue Island Police Equip. Helmets	135.05
7.		615	Chicago-Kent College of Law - Law Quarterly	10.00
8.		603	County Board of Lake Co Install radios	109.00
9.		614	Fanning Cadillac, Inc Squad Repairs	409.56
10.		600	Grand-Spaulding Dogge, Inc New Squad	2999.00
11.		630	Forest Hospital - Misc Lab work	50.00
12.		621	Haines & Co Annual Lease of Cress Directory	82.47
13.		612	James F. Jackson & Assoc. False Arrest Ins.	600.00
14.		603	Kustom Signals, Inc. (Payment on Radar #1)	71.62
15.		630	Kustom Signals, Inc. (Payment on Radar #2)	71.62
16.		630	Midwest Ace Hardware - Light Bulbs, etc.	15.19
17.		614	Schock's Towing - Snow Tires, Towing, Repairs	484.35
18.		605	Village Of Barrington - Officer's Court Appeara	nce 44.64
				generalista erre Manggabar et legen a trè es carrellador en dangta
			TOTAL	\$6,207.70

Respectfully submitted:

Ralph L. Hummel Chief of Police

Approved:	:		
	Annual Constitution of Street	MacArthur	

BARRINGTON HILLS POLICE DEPARTMENT P.O. BOX 705 BARRINGTON, ILLINOIS

25 February 1974

SUBJECT: Pay	roll for Court Time & Overti	me		
TO: Vil	lage Clerk, Village of Barri	ngton Hills	a a	
The Court Time as	e following named officers are listed for the period 25 Ja	e due payment fo n 74 thru 21 Feb	or Overtim	e and
Lieut. Meyer Overtime -	36½ hrs. @ \$5.96 per hour -			\$217.54
Sgt. Swenson Court Time - Overtime -	2 appearances @ \$12.00 21 hrs. @ \$5.44 per hour		Total	24.00 114.24 138.24
Off. Karolus Overtime -	27½ hrs. @ \$5.01 per hour -			137.72
Off. Egland Court Time -	3 appearances @ \$12.00			36.00
ff. Heard Court Time - Overtime -	2 appearances @ \$12.00 9 hrs. @ \$5.01 per hour		Total	24.00 45.09 69.09
Off. Fiper Overtime -	ll½ hrs. @ \$4.58 per hour -			52.67
Off. Austin Court Time -	l appearance @ \$12.00			12.00
Off. Bish Court Time - Overtime -	3 appearances @ \$12.00 10 hrs. @ \$3.55 per hour		Total	36.00 35.40 71.40
		Grand Total \$7	34.66	
	Respectfully submitted:	_///		
	•	RalpH L. Chief of	Hummel Police	4

Approved:_

A. MacArthur

BARRINGTON HILLS POLICE DEPARTMENT P. O. BOX 705 BARRINGTON, ILLINOIS

25 February 1974

SUBJECT:	Special Officers Payroll (Acct #605)				
TO:	Village Clerk, Village of Barrington Hills				
The following named Special Officers and Matrons are due pay as listed:					
Thomas W.	Gooch 43 hrs. @ \$3.00 per hour \$	129.00			
Richard H.	. Hausser 25 hrs. @ \$3.00 per hour	75.00			
Lorraine S	Swenson 7½ hrs. @ \$3.00 per hour \$	22.50			
Mary Grego	oria 3½ hrs. @ \$3.00 per hour	10.50			
	Total	237.00			

Respectfully submitted:

Ralph L. Hummel Chief of Police

Approved	:		
	A.	MacArthur	

BARRINGTON HILLS POLICE DEPARTMENT P. O. BOX 705 BARRINGTON, ILLINOIS

25 February 74

SUBJECT:	Extra Dut	y Payroll	for Regular	Officers -	Acct #	604
TO:	Village C	lerk, Vill	age of Barr	ington Hill	S	
and these	duty pay officers	as listed.	Extra Duty open shift	ficers of to is due to l s in an eff	Manpowe	r Shortage
Lieut. Mey	yer					
35 hrs	s. @ \$5.96	per hour				\$208.60
Off. Heard	1					
64 hrs	s. @ \$5.01	per hour			:	\$260.52
Off. Piper	2					
12 hrs	· @ \$4.58	per hour .				54.96
				Total		\$524.08
	Respec	tfully sub	nitted:			
				Ralph L. Chief or	Hummel Police	

Approved:

A. MacArthur